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PRINCIPLES OF ECONOMICS HSSC-

Time allowed: 2:40 Hours Total Marks Sections B and C:

60

MCTE: Answer any nine parts from Section ‘B and any two guestions from Section 'C’ on the separately

provided answer boak. Write your answers neatly and legibly.

SECTION — B (Marks 36)

Q.2 Answer any NINE parts briefly. _ {Ix4=36)
] Differentiate between Microeconomics and macreeconomics?
(ii) Write down any four determinants of Elasticity of Demand.

(i) Discuss any four causes of change in Supply.

(iv) Explain the relationship between Average Cost and Marginal Cost with the help of a diagram.
(v} Differentiate between Fixed Cost and Variable Cost.

(vi) Explain the lew of Diminishing Return with the help of table.

(vii) What is Capital? Discuss any three functions of Capital.

(viiy  Explain briefly the Marginal Praoductivity Theory.

(ix} Explain briefly the “Product Method” in the measurement of National income.

(x) Discuss the Sun-Spot Theory of business cycles,

(xi) Write down any four benefits of International Trade.

(xii)  Write down any four scurces of Government Revanue,

SECTION ~ C (Marks 24}

Note: Attempt any TWO questions. All questions carry equal marks. {2x12=24)

Q.3  Whatis consumers equilibrium? Explain with the help of utility approach.
Q.4  Explain the short run eguilirium of a firm working uncer perfect competition.
Q.8  Critically examine the *Quantity Theory of Money’.
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